— TOP AND CONSOLE PARTS 29"ELECTRIC DRYER
Whislpoéol For Model: YWED7990XG0
(Cosmetallic)

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST
12-10 Litho in U.S.A. (L.T.) (psw) 1 Part No. W10339903 Rev. A



TOP AND CONSOLE PARTS
For Model: YWED7990XG0

lus.
No.

Part
No.

(Cosmetallic)

DESCRIPTION

1

abhw

10
11

12

W10304462
W10309054
W10309144
W10332911

W10280762
W10337900
W10330449
W10280594

W10280757
W10285783

W10280595
W10325497

12990204
W10285812

W10285802
W10289382
W10285773

3390647
W10300815
W10167482
W10280738
W10280760
W10299940

W10280758
W10280761

Literature Parts
Tech Sheet
Guide, Use & Care
Guide, Quick Start
Installation,
Instruction

Wiring Diagram
Energy Guide

Control,

Electronic

Power Supply
Harness, Main
Console, Fascia
Assembly
(Complete)
Speaker Assembly
Stick, Trim
Assembly

Screw

Panel, Rear
Console

Panel Assembly
Top

Jumper,

(To HMI)

Top & Console
Assembly

Screw, 8-18 x 1/2
Screw, M2-0.89x10
Wire Assembly
Main Connection
Jumper-User
Interface
Jumper-UIl To USB
Jumper-CCU P14
Jumper-CCU P8
Jumper-CCU To
Wide I1SO

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST

2

W10339903



S @ &

7 \
N
ﬂ@va

)
/
/
=fe % 4 \
) i
/ L
7, / &
/
w7\l
z 7]
. A C
Y L& ° N
y s x\ s
\\\
y
\\\

©
D
SN\ -1 ©

=
A éﬂ_\
) ,\,./ \} 0
of 1
. o 1 (AR
NN \ > /)
=V YR \ ¢
a4y 7 W/
\) A
.
N4
S

)03 @EN
[ BEEL,

h)llllk §\

4|
™

=

CABINET PARTS

For Model: YWED7990XG0

(Cosmetallic)

—

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST

W10339903



CABINET PARTS
For Model: YWED7990XG0

(Cosmetallic)

lllus. Part lllus. Part lllus. Part
No. No. DESCRIPTION No. No. DESCRIPTION No. No. DESCRIPTION
1 W10301602 Screw, M5-0.5 x 10 15 W10285780 Door Outer 28 W10285801 Hinge, Assembly
2 343641 Screw, 10-16 x 1/2 Assembly 29 W10278915 Strike, Door
3 693995 Screw, 8-18 x 3/8 16 3392100 Foot, Dryer 30 W10208417 Window
4 8538263 Motor Assembly 279810 Foot-Optional Inner Door
60 HZ. (Extended Length 31 8533974 Screw Ground
5 W10316167 Cover, Terminal Package of 2) 32 3390814 Screw, 8—-18 x 3/8
Block (Not Included) 33 W10285793 Door, Inner
6 8578220 Pulley, 60 Hz. 17 279318 Terminal, Tinned 34 W10278916 Bezel, Door
7 W10285822 Panel, Rear & Brass (3) Catch
8 W10242878 Bracket, Motor (Includes lllus. 39) 35 W10301601 Screw
Mounting 18 W10285809 Panel, Side 36 W10208252 Bracket, Door
9 3387610 Belt, Drive 19 W10272397 Seal, Glass Glass
10 W10296342 Door Switch 20 3387374 Spring, Idler 37 W10317717 Screw
Assembly 21 W10285788 Panel, Front 38 3388672 Pulley Assembly
11 3389420 Retainer, Idler 22 W10246525 Switch Assembly 39 W10121334 Washer Thrust
12 3388674 Pulley Assembly Broken Belt 40 8529008 Power Cord
13 3397659 Block, Terminal 23 660658 Clamp, Motor 41 694415 Strain Relief Clip
14 279393 Terminal Block 24 'W10208401 Catch, Door 42 W10123956 Dampening Panel
Kit (For Assembly (Side Panels)
Terminal Block ) 25 8565046 Base, Cabinet 43 W10123957 Dapening Panels
26 690997 Tri—-Ring (Front Panel)
27 W10285792 Door Inner
Assembly

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST

4

W10339903



n
T
e
<
o
QO
<
LLJ
L
N4
-l
2
o0

o
(@)
Pas
o
D
[op]
M~
(o]
L
=
=
@
=}

(=]
=

S
L

—
L
<
—
[«B)
e
wn
o
(@)
Nl

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST

W10339903



BULKHEAD PARTS
For Model: YWED7990XG0

(Cosmetallic)

lllus. Part lllus. Part lllus. Part
No No. DESCRIPTION No. No. DESCRIPTION No. No. DESCRIPTION
1 8575324 Shaft,R.H. Thread 23 W10277503 Nozzle & Screen 41 W10276440 Bracket, Valve
2 3390647 Screw, 8-18 x 1/2 Assembly 42 8577274 Thermistor
3 W10211901 Colar, Lint Duct 24 'W10249422 Nozzle, Bracket 43 W10128629 Shield,
4 W10298258 Harness, Sensor Rear Blower Housing
5 697354 Air Duct 25 W10280779 Drum Assembly 44 'W10211911 Housing, Blower
Assembly (Complete) 45 W10211896 Lint Duct
6 W10211950 Seal, Housing 26 W10219342 Screw, 8-16 x 1/2 Assembly
Outlet 27 W10273050 Seal, Drum 46 8544769 Housing, Slot
7 3387242 Seal, Drum Felt 28 W10211903 Grille, Outlet Heater Box
8 3934666 Nut, 29 8533971 Screw, 8-18 x 3/8 47 8318314 Thermal Cut-Off
3/8x16 (R.H.) 30 3391018 Cable, Tie (Include,
9 W10211906 Lint Screen 32 3392519 Thermal-Fuse Item. 48)
10 W10211948 Drum Light (91°C) 48 280148 Thermostat 295°F
Assembly 33 W10249460 Nozzle & Hose (215°C) High Limit
11 W10044605 Coupling, Hose Assembly 49 8544770 Housing, Tab
12 8572105 Clip, Exhaust (Include Items, Heater Box
Pipe 23,30,35&56) 50 8066099 Bracket,
13 W10306123 Clip, Lint Duct 34 3387223 Electrode, Sensor Heater Box
14 8544771 Heater Element 35 W10249459 Hose, 51 3387230 Screw, 10-16 x 1
15 279457 Terminal Wire (Not Servicable 52 8544776 Flange,
Kit (For Heater Included With Heater Box
Element Wiring Item. 33) 53 W10280771 Baffle, Drum
Harness Repair ) 36 W10184825 Cover, Inlet Valve 54 8563745 Pipe—-Exhaust
16 W10001120 Nut, 3/8-16 (L.H.) 37 W10211915 Wheel, Blower 55 697694 Seal-Drum Felt
17 W10211946 Bulkhead, Rear 38 W10044615 Clip, 56 W10208422 Rear Deflector
18 3387459 Washer, Support Push-To—-Connect 57 8557403 Inlet Thermistor
19 8575325 Shaft, R.H. Thread 39 W10211930 Bulkhead, Front High Limit Stat
20 690997 Tri—Ring Door Screen 58 W10211899 Seal-Collar
21 8536973 Roller, Support 40 W10276441 Valve,Water Inlet Blower
22 W10211933 Seal, Cover Plate (Includes Items, 59 W10211902 Outlet Grill &
11,36,41 & 60) Housing Assembly
60 90767 Screw, 8-18 x 1/2

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST

6

W10339903



OPTIONAL PARTS (NOT INCLUDED)
For Model: YWED7990XGO0
(Cosmetallic)

Mlus. Part
No. No. DESCRIPTION

ACCESSORY PARTS

279948 Kit,
Dryer Repair
W10322470A Dry Rack
8522199 Kit, Dryer
Vent Testing
8544761 Tube, Extension
49611 Kit,
W10285826 Termax Removal
Tool
Side Venting

PAINT, TOUCH-UP (1/20z.)

W10318650 Cosmetallic

PAINT, PRESSURIZED SPRAY
(12 0z.)

350930 White
350938 Primer, Gray

PAINT, BULK (1 qt.)

799344 White (Uncut)

Miscellaneous Parts Bag

W10206708 Bag Assembly
(Contains
The Following)

W10339903

89503
350027
W10242307
W10044604
353362

5’ Hose

2’ Hose

Washer
Connector, Y Hose
Filter Washer

ACCESSORY PARTS

The following power cord can be
ordered.

Important: Check local wiring code
requirements to see if one of these
meets your needs.

PT220L 4’ 30 Amp 3 Wire
Dryer Cord

PT400L 4’30 Amp 4 Wire
Dryer Cord

PT600L 6’ 30 Amp 4 Wire
Dryer Cord

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST
7



	TOP AND CONSOLE
	LITERATURE
	CABINET
	BULKHEAD
	OPTIONAL

